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9 Sagittarius
5 Puzzle ID: K493ZQ
N Taurus For hints, solutions and more puzzles, go to

www.Printable-Puzzles.com!

Virgo
green Prices Customers Colors Zodiac Signs

orange $40
$45

pink
$50
red $55
violet $60

1. Vicky wasn't the Taurus..

2. Isaac paid $40..

3. The person who got the green tattoo paid 5 dollars less than Vicky..

4. The Virgo paid 15 dollars less than the customer who got the orange tattoo..

5. The five customers were the Aquarius, the person who paid $40, Zachary, the person who got the orange tattoo and
Vicky..

6. The Sagittarius was either the customer who paid $60 or Frederick..
7. The Taurus didn't get the pink tattoo..
8. Isaac was either the Gemini or the person who paid $55..

9. Of Zachary and the person who got the violet tattoo, one paid $55 and the other was the Virgo..
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